1 3aa. NpecmetHere:

1/ -3+4= 2/-10-9= 3/+8-6= 4/-3-12=

5/-10-7= 6/-10+7= 7/+5+9= 8/-10+4=

9/-5+5= 10/-9+8= 11/-12+9= 12/-10-6=

13/+6-7= 14/+8-12= 15/+3-11= 16/-10-9=

17/-21-3= 18/-21+3= 19/ 421-3 = 20/+21+3=

21/-7-3= 22/-5+14= 23/-4+12= 24/-6+8=
2 3ag.

Cpasnere cOoposere (<, =, >).

a) (-8)+(=3)[](=7)+(-5x 6)(~9)+(~6)[ |(~6)+ (-8

B)(-52)+(-28) |(-3)+(-6); D (-83)+(-39)[_](-7.6)+(-53).

33apm.

Hamepere cbopa na umncnara —5,7 u —3,3. Kbm nonyuenus cbop npubasere:
a) HO-MalKoTO OT uKcnara —3,8 n —4,5;

6) no-ronsmMoTo or yuciara—7,2 u —6,8.

a/-5,7-33 = +( ) = 6/-57-3,3 = +( ) =

Tlonbnnere cxeMuTe 10 NoKazanus o0paseLl. [ i l s |

a) 0)
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